BUSC 1A Sample Exam 4
T of  F
______  1.  A small time deposit is one that is less than $100,000.
______  2. Cash held by a bank is sometimes called vault cash.
______  3. The monetary multiplier is excess reserve divided by required reserves.
______  4. A tight money policy will tend to cause the dollar to depreciate.
______  5. When the economy is at or near full employment, an increase in the money supply tends to be inflationary.
 
Problems
1. Using the data in the table to answer.
 ---------------------------------------------------------------------------
 Item                                                           Billions of dollars
 ----------------------------------------------------------------------------
Small time deposits                                              630
Money market deposit accounts                             575 
Money market mutual funds                                   425
Checkable deposits                                               448
Non-checkable savings deposits                             300
Currency                                                             170
------------------------------------------------------------------------------
a. M1 is equal to the sum of __________and ________________, so it totals ________ Billion.
b. M2 is equal to M1 plus ________, ________, _______and ________, so it totals ___________billions.
c. Which of the above accounts are considered near money? ________________________
They only belong to ___________________________________.
  
2. Suppose the continental Bank has the following simplified balance sheet. the required reserve ratio is 20%.
-------------------------------------------------------------------------------------------------------
                               Assets                                                 Liabilities and net worth
                             (1)              (2)                                               (1)          (2)          
-------------------------------------------------------------------------------------------------------
Reserves  $22000   ______     _______    Demand deposits $100000   ______        ______ 
Securities  38000   ______      _______          
loans         40000   ______      _______
--------------------------------------------------------------------------------------------------------
a. The bank's actual reserves is ________________ required reserves is ____________ and excess reserves is ________.
b. What is the maximum amount of new loans, which this bank can make? ______
Show in column1 how the  bank's  balance sheet will appear after the bank has loaned this additional amount.
c. How will the bank's balance sheet appear after checks drawn for the entire amount of the new loans has been cleared against this bank? Show this new balance sheet in column 2.
  
3. Assume that required reserve ratio is 20%, and that cash is not a part of the commercial banks' legal reserve (c = 0%).
 a. To increase the money supply by $100, should the Fed  buy or sell securities? ____
And by how much in the  open market? ____________________________________
b. To decrease the money supply by $200, could the Fed buy or sell securities? _____
By how much? _______________________________________________________
 
4. Fill in the blanks based on the information in the following table.
----------------------------------------------------------------------------------------------
Japan’s combination of X and Y                      China’s combination of X and Y
----------------------------------------------------------------------------------------------
                       100X, 0Y                                             50X, 0Y
                        50 X, 100Y                                          25X, 75Y
                           0X, 200Y                                           0X, 150Y    
----------------------------------------------------------------------------------------------
a. Opportunity cost of 1 unit of X for Japan is _________________
    Opportunity cost of 1 unit of Y for Japan is _________________
    Opportunity cost of 1 unit of X for China is __________________ 
    Opportunity cost of 1 unit of Y for China is __________________
b. Japan has comparative advantage in producing _____.
    China has comparative advantage in producing _____.
